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In a cricket match, Harbhajan took three wickets less
than twice the number of wnh@c@hﬂwn by Zahir. The
Product of the number of g«a@ﬁ“\ﬁta taken by these two is

20. Represent the a}u&e@ﬁﬁ’tuatmn in the form of quadratic
equation. V




LLet the number of wickets 1s taken by Zahir be x. then
number of wickets taken by Harbhajan will be 2z — 3.

According to question, we have @/GGON\

(2:1: — 3) @@/\

@‘5
222 287 = 20

T'hus required quadratic equation,

27 —3x—20 =0




The denominator of a {raction 1s rﬁl%)@llltjlﬁ than twice 1ts

numerator. If the sum of the fr k@ﬁnu and 1ts reciprocal 1s

O&
25>, find the fraction. 400\‘




T
20+ 1

L.et numerator be z then fraction will be

As per the question we have

r , 2x+1 216 28
2r+1 " o 21 21

21|2" + (22 + Y| = H8(22” + )
1127 — 26@1@%‘2

1122 — 557:x 20 = 0
N

r = 3, 171 (rejected)

We reject z=—+%, thus z=3 and fraction will be

3 3

3 _3
6+1 7




A person on tour has ¥ 4200 for l'gé(i@ﬁ\]jlﬂl’lﬂﬂﬂ. If he extends

his tour for 3 days, he has qu@ﬁﬁ down his daily expenses

. N .
by ¥ 70. Find the {::1'10‘&)};;@?{‘ duration of the tour.




4200 4200
T r+3

1
T

4200(

60|

O
Q¥
O 2 30 180 = 0

¥+ 152 —122— 180 =0
r(x+15) —12(z+15) =0
(z+15)(z—12) =0

Thus z =— 15 and z= 12




A student scored a total of 32 m{uka in class tests 1n

mathematics ans science. Had &@5 Scored 2 marks less

In science and 4 more 1n %)u@l}\henmtlu the product of
his marks would h{n'{Q\lgﬁééu 253. Find his marks in two
subjects. O™




According to question,
(32 —x—2)(r+4) =253
(30 — .,L)(.,L-F 4) = 253
26T — " + 120 = 253
7~ 260+ 133 S ="

7 — 19z — 7:.?%4@3 =0
1(z— 19@\@&??% 19) =0

r =7 or x=19
If =7 then marks in mathemartics — 7, and marks

In sclence = 29
If =19, then marks in mathematics = 19 and marks in

sclence = 1J3.




The sum of ages (in years) of a éﬁén;?%ﬂd his father is 35

yvears and product of thcriroq@,%\s\ 1s 150 years, find their

O
ages. ) )




L.et the age of father be z years and age of son be y years

Now z+y =35 (1)
and zy = 150 (2)
Substituting the value of y, in (1) w 8@&ve
v
(35 — 1) = 1@;9@*

WV
— 3902+ S ()
&1&“&
(:1:— 30)(x—95) =0
£ =30,2=25 (Rejected)
Age of father can’t be 5 years, so we reject r= 5 and take

= 3.




One fourth of a herd of camels was seen i1n forest. Twice
of square root of the herd had @;\tﬁ% to mountain and

.. | \ o .
remaining 15 camels were SgéuD%\ﬁ the bank of a river, find
the total number of can els.




Let the total number o

" camels be .

According to the condi
TH2vae+15 =a

)ion given we have

32— 8V 1 —60 =0

?f’a

GON\

.

— 3y — 60

AV
392 18y + 10y — 60 = 0
3Yy(y —6)+ 10(y—6) =0

(3

10)(y—6) =0
y =6 or y=

10

3



A two digit number 1s four tmw% e sum of the Lh r1t.s.
81t also equal to 3 times thgx(q??‘mdutt of digits. Find the @

<\
number. WP




10y+z =4(y+ o)
10y+ 2 =4y + 4x
10y —4y =4x— x
by =30 = 2y ==
Also, 1Uy—|— %‘1085\‘-* 3y
Now substituting r = QQ(@\%/EEWE:

0@“) 10y+ 2y = 3(2y)y
12y = 6y’
6y — 12y =0
6y(y—2) =0
y =0 or y=2

0&




Three consecutive positive integers dq\;(e such that the sum

of the square of the first and R&@\@m{t of the other two 1s
46. Find the integers. wO\‘O




'+ (z+1)(z+2) =46
r+1r+3x+2 =46
207 +3x— 44 =0

297 + Lz — 8z - A= 0

(22 + 11) 0@@ +11) 0
(9 +11)(:1: 4) =0
2r+11 =0 and x—4 =0

11
2

and r = 41




A train covers a distance of 360 kn}) &t a uniform speed.
. Had the speed been 5 km/h mg;e{cfﬁ would have taken 48 |

min less for the jﬂurneyégﬁiﬁ‘a the original speed of the
train. \)@Q“




360 360 48
r (x+5)

360 360

360|

450 \;@5 g
2+ 50839950 =0
7 + 50x— 452 — 2250= 0

2(z+ 50) — 45 (z+ 50)= 0
(z+50)(z—45) =0 = = =45 [z #+ — 50]

Hence, original speed of the train is 45 km/h.




5

8 If the price of a book is reduceddsy Rs. 5. a person can
] 5, L a |

#l buy 5 more book for Rs. 3\@&19‘?‘11‘1{:1 the original list price

z(
of the book. \ Q\)‘/é’




According to questions, we have

300 300 _

T— 9 .

(2 20)(F+ 15) =

Since price cannot be negative, r = 20

1'hus original list price 1s 20 rs.




The sum of ages (in years) of a bmbw,ud his father is 35

yvears and product of their a%g@& 150 years, find their
tl%L‘j ,(\)O\(




Now T+ Yy = 39
and ry = 150
Substituting the value of ¥, in (1) we have

:1:(35 — “1:) = 150

7 —35z+ 150 =0 &po@

(= 30)(2—5) = 0o

\Q\fﬁ; 30,z= 5 (Rejected)
Age of father can’t\WBe 5 years, so we reject £ =5 and take

3= 3],

Now Yy =5
Hence the age of father 1s 30 years and the age of son is
D years.




Speed of a boat in still water is 1@49@?‘7}15111-. It goes 30 km
up stream and returns huc\l&zﬂ$ he same point in 4 hours
30 minutes. Find the ?&ﬁéﬂ of the stream.




30 30
15—z " 15+2

30(15 + :II)—l— 30(15 — :1:)
15° — 27

GON\

900 x A5 9(15° — 2%)

ot
07" = 2025 — 1800 = 225

v = 25
r =15

the speed of the stream = 5 km/hr




